YR 28 R BUBTEEHE

24 B B R W

FECIES " WG | I | 2517k

4/15 4-5-6 H BB TEEVE % A 7,980,000 7,980,000
U | a/18 || fRTOTBTRMCLRY . 32,400| 7,947,600
2 | /18 |wrmmnn| T ECTERIREERY 42,768| 7,904,832
3 [4/18| wmm |EHBH LM 4,565 7,900,267
4 [a/18| wmn |BIFA 164| 7,900,103
5 |4/25| s ?K&%ﬁéigg“ﬁ“‘*“oﬁ) 13,338] 7,886,765
6 | 4/25 |t |04 AHE OB RBOR S F8 25 ) 301,665| 7,585,100
7 |as25| wi ﬁﬁjﬁ@g;ggﬁ%ﬁfﬁ R TS 69,932 7,515,168
8 [as28| rim (5472 612,710 6,902,458
0 | 5/10 |semrsen | AR . 194,400| 6,708,058
10 | 5/10 [wsemmcne | A PIERRE ) 194,400| 6,513,658
11 | 5/10 |mamrs @%fg%jffff&z%g ) 194,400| 6,319,258
12 | 5/10 [wssrn | LI RIERSA 194,400 6,124,858
13 | 5/10 | s fﬁgé‘(j;jf%ﬁkjﬁﬁmm RO 323,239| 5,801,619
14 | 5/10 | mmmms | RS L R — MERK E 243,540| 5,558,079
15 | 5/10 | st |45 F - 47 LD VESEA (RBOERE T L) 86,322| 5,471,757
16 | 5/12 s [EEEFEIRACRY ) 36,408| 5,435,349
17 | 5/12 |wrmnn [EFEIRECRY o) 46,524| 5,388,825
18 | 5/12 sz (ﬁ’;imgﬁﬁﬁﬁﬁiﬁff [ 81,156| 5,307,669
19 | 5/12 s [TICTEIREERY ) 37,116| 5,270,553
20 | 5/12 [serms s | P HATRIMEIEEL 37,116| 5,233,437

(CERk285-4 H ~FR%294-3 H 47)
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wo | A H| HA 1 i IWNGEE | XMEFE | Z515%m
21 | 5/13 |sermnne | SVIRIAER o . 22,644| 5,210,793
22 | 5/13 | werms e |(DPIEIES MU LR 28,200 5,182,593
23 | 5/18 | wa# |[fEEITNEA 520 5,182,073
24 | 5/19 [mmumese | B FE EIRIAC (RS LR —FEEM) 138,240( 5,043,833
25 | 5/23 | e %jﬁ@fﬁgiggﬁ%ﬁfﬁb%%iﬁm 70,049| 4,973,784
26 | 5/24 | mammne ) AL (REESL R —IEEH) 244,608 4,729,176
27 | 5/26 | wmm |FER 202| 4,728,974
28 [ 5/31| amm (#5554 554,600| 4,174,374
29 | 6/8 | #m# | LA 5,103 4,169,271
30| 6/8 | wmm |HEH ML 4,620| 4,164,651
a =Ry F— gL
31| 6/8 | #E# |CER28E2H2H~5H1H%Y) 84,009| 4,080,642
(88,431 X 95%)
32| 6/8 | #ms# |2 — FIRRAN (A4 25541 ) 5,508 4,075,134
33| 6/8 | wmm |FHEH AL 4,800| 4,070,334
34| 6/10 | Amz |HHITFY 763,500 3,306,834
35 | 6/10 | ezt | VL BOER A FIRIR 60,820| 3,246,014
36 | 6/10 | e | B FRAC R BomR 5 38 05 ) 63,000 3,183,014
37 | 6/10 |z | BT R B A 58 05 ) 291,148| 2,891,866
38 | 6/13 |mwmroese | B (4/18~22) (8 I LB T - i i fL /N 18,000| 2,873,866
39 | 6/13 |mesarzete | ik e (4/19~20) {8 o IR AE B T 29,544 2,844,322
40 | 6/15 | msmisese | ik (4/18~19) A A TUH X 90,858| 2,753,464
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wo| AR HA 1 Wi IWNGEE | XMEFE | Z515%m
A1 | 6/15 | anssnrsite | fik 2 (5/9) B AR (LI 11,013| 2,742,451
42 | 6/15 | msrsete | ik Fe (5/9) B A AR LT 7,066| 2,735,385
44 | 6/16 | ezt | fik 2 (4/19~20) HUHE U X 55,618 2,679,767
icE(5/11~13)
45 | 6/16 | amdeinscte | e UL GRS T3 - FESEAR A IR A, 126,777 2,552,990
HOREBL X - 5 [X)
46 | 6/16 |mamsee |2 (5/30~3 D HUEH T H X 54,348| 2,498,642
47 | 6/22 [immsmze | 1 AR O B UL B B 8 25 ) 470,008 2,028,634
48 | 6/22 |mzsmisctt | ik (5/23~28) i AT (AL PN « AHT) 23,843| 2,004,791
49 | 6/22 |menriese | fik e (5/27~28) i A i AHT 5,455| 1,999,336
50 | 6/22 | msset | fik B (5/27) R FNTHAHT 1,015 1,998,321
51 | 6/22 |maciisest | fik e (5/27~28) @ A i AHT 3,103| 1,995,218
52 | 6/22 |msizet | fik B (5/27) R FNTH AT 1,073 1,994,145
53 | 6/22 |mwroes | ik B (5/27~28) i F i AHT 5,159 1,988,986
54 | 6/22 |manisese | ik e (5/27~28) i A i AHT 5,797| 1,983,189
55 | 6/22 | msmses | (5/27) 1 SN TH AT 957| 1,982,232
56 | 6/22 |mmaarsese | ik e (5/27~28) i A i ACHT 9,711| 1,972,521
57 | 6/22 |mswrsese | ik B (5/27~28) i F i AHT 9,912| 1,962,609
58 | 6/22 |msemizet | fik B (5/27) R FNTHAHT 1,073 1,961,536
59 | 6/22 | mmses | (5/27) 1 SN TH AT 638| 1,960,898
60 | 6/22 |mseiises | fik B (5/27) R FNTHAHT 920| 1,959,978
61 | 6/23] rpe f R OR PR - JE AR A PR IR - V3 - 24 4L 70,284| 1,889,694

(A I)EH D)
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wo| AR HA 1 S INAGEE | SHe%E | 25k
62 | 6/20 |sersnne | [ REERBTEMCLRE A 31,476 1,858,218
63 |6/30| At |#55-6H %y 254,500 1,603,718
64 | 7/1 | wmm |EEE 120 1,603,598
65 | 1/6 | awm |[ICETERIEE TS BB 84,381| 1,519,217

7/15 7-8-9 7 BB TEENVE 2T A 7,980,000 9,499,217
67 | 7/15 | mammsn ?iﬁ%éﬁ%%@iﬂim”'%Mbﬁg% 308,499| 9,190,718
68 | 7/20 | mewrs fg%g%g%%%@ﬁ%ﬁ 76,348| 9,114,370
69 | 7/20 |mmmmee | L3 LN — MERLE 670,680| 8,443,690
70 | 7/20 [ | B EEHREES L AR — REET) 18,492| 8,425,198
11| 72| e |FUERIEH A GRS T AR 70,284| 8,354,914
73| 7/25| wrew [fRE (7/21~22) HOLEBHE X 55,368| 8,299,546
74 | 7/28 |mmanrsest | R (7/20~21) FORHS TR HE X 75,950 8,223,596
75 | 7/28 | | 1% ANES R EE S L AR — RIS L) 307,428| 7,916,168
76 | 7/29| am [F55TH 4y 322,340| 7,593,828
77 | 8/3 |wmammrses | (7/25~26) HEUES (R K- TR X) 86,628| 7,507,200
78 | 8/3 |mwmmiset |k Er (7/25~26) HUAUHD (MR X - T X) 59,250( 7,447,950
79 | 8/3 |mrses|fieEr (7/26~27) HATER T H X 58,339| 7,389,611
80 | 8/3 |mwmmizes|fic#y (7/26~27) MU TAUH X 55,018| 7,334,593
81 | 8/3 |mimwmizese | ke (7/26~28) B AEAR TR H X 74,547 7,260,046
82 | 8/3 |mtwroese | fikEy (7/28~29) U J5 i thAt /N BT 14,363| 7,245,683
83 | 8/8 | wmm | M 1,577| 7,244,106
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ErlAn| mA fi 3 IRAAHE | e | £35S

84 | 8/9 |mewris ik (7/28~29 H)HUTHS THUH X 19,620| 7,224,486
JikE(8/5~7)

85 | 8/23 |mwizest | B HB(HEX « AV H X #23[X), Hriks o 105,496| 7,118,990
B
T (8/5~17)

86 | 8/23 |a&wizes: | B HB(HEX « AU H X R [X), Hriks o 109,211 7,009,779
B
T (8/5~17)

87 | 8/23 |amwizes: | B HB(HEX « AV X 2 [X), Hriks o 110,666 6,899,113
B
T (8/5~17)

88 | 8/23 |m#wizes: | B HB(HEX « AV X R [X), Hriks o 107,389 6,791,724
B
TR (8/4~1T)

89 | 8/23 |mm#ansest | BUTHB(HEIX « TACH X « R230[X) . Hriks WL 121,010 6,670,714
B
TR (8/4~1T)

90 | 8/23 |am#midese | BUTHB(HEIX « TACH X « #2300 [X) . Hriks WL 115,110 6,555,604
B
T (8/5~17)

91 | 8/23 |am#mndese | BT HB(HEIX « TACH X « #2300 1X) . Hriks WL 105,076 6,450,528
B

e | TREL(8/5~6)

92 | 8/23 |mm#awmizen SR T X+ 138 5) 65,492| 6,385,036

93 | 8/23 |mamzes | B (8/16~18) Kk I m BS B 75,640 6,309,396
R FELR OB « S A AR A B « U 25 =24 4L

94 | 8/23 | At A (2 - )68 43) 184,383| 6,125,013

95 | 8/31| rmrer |#55-8H 4y 326,580 5,798,433
2 (5/11~13)B004y

96 | 9/7 |mwizes: | PR IRGHERT - EEERLS IR A, 12,324 5,786,109
HORERTH X « BEX)
av’—hr A —E

97 1 9/14 | #m# |CER284E5H2H ~8H1H%Y) 58,514| 5,727,595
(61,5944 X 95%)

R BRI K O AEZE4R

98 | 9/15 | mmusmze (RS AL o |3 2 ) 58,606| 5,668,989
AR, ISEHIR, 5640 7~ — LH]

99 | 9/15 | s | R & O — VEEDVESE (R (B3 L R — M 140,394| 5,528,595

=)
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w¥an| m=a 1 - IR | A | 25517
100 9/15 | mammss | B EEIRIFC(RZEESL AR — RS H) 110,808 5,417,787
o | P s L AN — MERKEY | HEFEIR R OB &R
101 | 9/15 |ttt | (s e et e 237,600 5,180,187
102 9/16 | mawrses: | ik (8/24~26) HULE (L IX - TALHIX) 88,668| 5,091,519
o |FERECRERRE - A AR B R PR - B 24 L
103(9/26 | AFf | e e L 2 70,284 5,021,235
Jit#E(9/10~13)
104 9/26 |#anrses | |LFEEIEE T, REFRE BT LB, K 162,712| 4,858,523
TEBIL X
105 9/28 | iuinis | ) FAR - RANE S BHRGEAL R — M) 504,082| 4,354,441
. U A7 L ~_R— X —(R(A3: 155, A4:1058)
106 9/29 | ### ||~ coom oo 15,040 4,339,401
107 9/29 | At 4559 4> 329,760| 4,009,641
108] 10/7 | #m |BEEHE} 400| 4,009,241
109(10/11| = WL 510| 4,008,731
10/17 10-11-12 H 5y BUSTEEVE = 1T A 7,980,000 11,988,731
110 [10/17| memms | W32 LR — MERLE 578,070| 11,410,661
111 |10/17 | msmmes | R a1 R — MERL B 379,080 11,031,581
112 [10/17| memms | WG LR — MERLE 326,160| 10,705,421
. R ST T v e B e
L13 [ 10/17| soRibAge| G et bogkes 1 4) 28,200 10,677,221
114]10/20| sz |14 B SRS L AR — M8 E ) 2,870 10,674,351
TR ORI « B A AE B PR R - B T 2 i
L15(10/25 At | PO e e sy o 70,284 10,604,067
116|10/25| #mwm =AM 1,980( 10,602,087
117]10/26| s | M E S RHIRESL R — R ER) 112,486( 10,489,601
118|10/31| Atk |#5510H %> 345,660| 10,143,941
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LIS

wo| AR HA i Ci) IWAGFE | 45 | =515

119] 11/4 | msmsms: | B B82S EI RIS 71,790 10,072,151

120 11/10| s | VL BCERAS 7 A 2 F 30,000| 10,042,151

121 11/10| mommese | £ AR BORE 3815 H) 143,952| 9,898,199

122 [11/10| mwmommste | B 7 FRCRERS L A — Mg EH) 155,520| 9,742,679

EAVEZE IREHR, 5647~ — LH]
123 |11/ 11| s | B O — L BEOVESE R (RS LR — R 30,979 9,711,700
%=H)

124 [11/11 [ msmmmesr | L ag L AR — MERE? 243,540 9,468,160

125 [11/11 | imommste | B 7 FIURACRRS L A — g X H) 42,120| 9,426,040

126 | 11/ 14 e | 9 45 RS VERR B 50,000 9,376,040

127 (11 /15| memrses | R (10/26~27) T 2E IR T 5 55,248| 9,320,792
e |RER(10/31~11/1)

128 |11/15|mamrsen Py T Ay 78,751 9,242,041

129|11/16| mwmins | ) A8 2RI s BHRGE S L AR — NS X ) 71,868 9,170,173

e |TERECRIREL - B AR AR S IR0 - T B T L

130]11/24| Apa s (e 2 £ (6 43) 71,116| 9,099,057

131 | 11/24| mmmmes [B) A% (RS LR —REEER) 239,176/ 8,859,881

132|11/28| memmrzes B (11/1~2) W =E# (L H X 62,789 8,797,092
g | kg (11/7~10)

133 [11/28| %75 BT AL P SO TR X 68,353| 8,728,739

134 [ 11/28| ZEB0T ik #(11/9~ 10) HURCES T X 56,490| 8,672,249
g | k2 (11/9~10)

135 11/28) “izmat | g i - X - 5 ALY 78,050] 8,594,199

136 11/28| %0 i (11/9~ 10) HURTHE TR I X 58,704| 8,535,495

137 | 11/28] * 2R e (119~ 10) HUSTHR TR HH X 58,939| 8,476,556
gt ik (11/8~11)

138 [11/28| * 1 S B T AL 71,370 8,405,186
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LIS

wo | A H| HA i G2 URANEKE | ZHEARE | =515

139 | 11/28| %0 | iR (11/9~ 10) BUAUE TR X 53,076| 8,352,110

140 [ 11/28| %005 e #8(11/9~ 10) HURUES TR X 54,205| 8,297,905

141]11/30] At |#8511 %) 350,750| 7,947,155
e (11/21~22)

142 12/5 |amtearsese | BURTHER T8 H X KRB RBR T 80 80,068| 7,867,087
ER

1431 12/5 | st |35 15 EDRIAS (R BoR A5 28 25 ) 112,492| 7,754,595
PSR —MERRE | HEIRI R OV R & A

144 12/5 | mwmmm (FL 2 B e D 302,793| 7,451,802

145 12/9 | smmese | BSIE S RHEZE S L R — R 3 32% ) 291,258| 7,160,544

146| 12/9 | #Ew |EOLE 120 7,160,424

147] 12/9 | At |[HIRTY 763,500 6,396,924
B EEZE, B RATE

148|12/13| sty CECB 0 76 ) 917,949| 5,478,975

149 [12/13 | imoimste | 1% AN SRR FR S L AR — g5 H) 630| 5,478,345
EAEZE . IRERIRI, 56407 ~L2 — ) LH]

150 [12/14 st | i B O — VRED ESE AR 27,869| 5,450,476
(FESLR—REER)

. RSV AR —MERE R M OV R XA
151 [12/14 o (FLE 2L i e i) 302,317| 5,148,159
o | Pt LN — MERCE | A FI & OV&E &R

15212/ 14| wsmmmsss (FL 2 B8 ) 243,000 4,905,159

153 |12/ 14| mamnes B R EURMC(RGE SV A —REEA) 87,750 4,817,409

154 |12/ 14| msmines (R EN RS RES VR —RFEEH) 36,180 4,781,229

155 |12/20)| msmnese | B S BHEZE S L R — R334 ) 544,044| 4,237,185
FEFR LR IR} - R A PR k) - T EE 24 L

156(12/26 A2 s 2 1 £ 010 F 20 71,116| 4,166,069

157|12/27] A (3851284 433,710| 3,732,359

158 1/6 |mmmis | F8 SR TRM IR BrHR S F8 15 ) 43,485 3,688,874
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w¥an| m=a 1 - IR | A | 25517
159 1/11 (gt | 12 A SR RGR S L AN — MEIE ) 44,660( 3,644,214
160| 1/12 | #ms#e | FHH LA 103| 3,644,111

1/16 123 A 5 BUBSTEE B2 1T AL 7,980,000 11,624,111
161] 1/17| e ?ﬁg;ﬁ”ﬁ&fuﬁ“&lﬁ) 1,702| 11,622,409
162 1/18 | it | 5040 7~ AR B & I8 15 H) 39,398| 11,583,011
163 1/18 | it | 5565 FRACORECR 5 %8 25 ) 102,600{ 11,480,411
164 1/26| apre [HECIRIERE BT AT 71,116 11,409,295

at =Ry A —E
165[ 1/30 | #m# |CER28E8H2H~12H1H4Y) 91,601 11,317,694
(96,4237 X 95%)

166| 1/30 | #m# (2T —7 L —R) w2 fR(8,100 1 X 95%) 7,695 11,309,999
167 1/31| e 46518 %y 410,640| 10,899,359
168| 2/8 | st |HHEH LAY 1,407| 10,897,952
169| 2/8 |mwmmss | WL B FRI 219,240( 10,678,712
170 2/8 | s | oA 2 T RN BRI OO S 421,423 10,257,289
171| 2/8 | s QEFJ&UWUEADE%{J‘(L“”&%V*”% 109,303 10,147,986
172 2/10 | rsaimete | & FO AR R B 5 56 25 ) 51,030{ 10,096,956
173 2/10 | s | 1 A HE Ak (R O 1 56 105 ) 794,612| 9,302,344
174 2/13 |zt | BIAAES B RGES L AN — ML) 384,098| 8,918,246
175| 2/14 | o fiiﬁéﬁﬁﬂ??fé% 94,583| 8,823,663
176 2/14 | s (L[j;;]j/? FF‘%@%)WE‘W”&UW%M‘ 302,793 8,520,870
177 2/15 | mmnes | g e LR — MER 2 393,120| 8,127,750
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LIS

FECIES " WG | I | 2517k
178 2/15 | e | g 25 (R 2% 259,200| 7,868,550
179 2/21 | mamss géﬁ%”%ﬁwﬁwmmﬁ 41,985| 17,826,565
180 2/21 | giﬁ{%ﬁ;ﬁwﬁm%mﬁ 33,509| 7,793,056
181 2/21 |mecarss giﬁé%”%ﬁwﬁwmmﬁ 34,843| 7,758,213
182 2/21 | giﬁ{%ﬁ;ﬁwﬁm%mﬁ 32,523| 7,725,690
183 2/21 |mamas g%ﬁ{%”%ﬁwﬁwmmﬁ 30,638 7,695,052
184 2/21 | géﬁé%wﬁ%ﬂﬁﬁ@ﬁm'MMﬁ) 42,358 7,652,694
185 2/21 | mmsen g?;iéﬁ/(%Niz;ﬂﬁMﬁﬁm'MMﬁ) 30,783 7,621,911
186 2/21 | g%ﬁ?ﬁ%ﬂﬁwﬁwmm% 31,044 7,590,867
187 2/21 | mmmsen g%ﬁé%Niz;ﬂﬁMﬁﬁﬁT%ﬁM$) 31,044 7,559,823
188] 2/21 | s ﬁjﬁ@fﬁgiggﬁ%ﬁ@?'ﬁ%%%m 186,566| 7,373,257
189|228 | e |52 %y 105,020| 6,968,237
190 3/3 |mamums | #4ME R RBES L R—REE M) 223,432| 6,744,805
191| 3/3 | i%%‘%ﬂjf@iﬁﬁﬂﬁugﬁ@%@%g 243,000| 6,501,805
BE L, IRE L D54 T~V — LHIR, & —
192 3/3 | mammmese | L BED B OEF A SRR 290,819| 6,210,986
(FESLR—MEEH)
193] 3/9 |mwmmnes | e L RN — MER 2 327,726| 5,883,260
194| 3/9 |t |12 B ERIRFES L R —REEH) 286,704| 5,596,556
195 3/9 | =mm |95 AR 2,178| 5,594,378
196] 3/9 | e ?K;@%i;g,;,f“ﬁ(“‘%ﬁ) 10,670| 5,583,708
197 3/10 | sz | 4 4E DR RBES L R — 8% H) 288,464| 5,295,244
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LIS

s | HH| HA i B IRAAGRE | X ARE | 2515
198 3/15 | i | 1% WA SRR BeE S F8 125 ) 455,000| 4,840,244
199/ 3/15 | rtmmmese | 2 W E L BHIE 262 L R — L H) 217,338 4,622,906
200 3/22 | mnese | BIFAES S BHIREE S L R — Mg ) 291,258| 4,331,648
o |FERECRERORE - A A PR IRRE - V2 T 4 L
201 3/22| Atz Hs (2 1 £ (LA 43) 71,116 4,260,532
202 | 3/22 | om0 25 VE AR B 324,080 3,936,452
203 | 3/23 | g | B HFE S RH R GRS L R — R 5 ) 224,114 3,712,338
204 | 3/28 | it | 1% A E SRR BCER 38 15 ) 469,018 3,243,320
205 | 3/28 | issmimssy | VL B 33 2 VE R B 421,200 2,822,120
206 | 3/28 | s | BIHE Do R BCR S 38 15 H) 255,948 2,566,172
207 | 3/28 | izt | B 15 IR BoHR S 38 25 ) - TECEH 156,276( 2,409,896
208| 3/28 | sty | L Er 53 A VERR By - RO 287,658 2,122,238
209 | 3/28 | s | BIHHES DR BCER & 38 5 H) 584,910 1,537,328
210 3/31 | s | 14 ST DS BH B3 S LR — NE 24 ) 469,018 1,068,310
211 3/31| rem (#6538 4y 424,100 644,210
iermmn | TR (3/23~24)
212| 3/31 | sscmrsee T I B e L (5 1« 1) 50,012 594,198
i (3/22~25)
213 | 3/31 |sazemrgess | RBRORF KB T . S i B (Ve = o - 4 ) 92,424 501,774
5 o) WL e o]
214 3/31 |mmrsese | B (3/27~28) B FUE (HE X - TR H X) 58,222 443,552
eres | TR (3/27~28)
215| 3/31 | sazswrses b LR o ST T L 65,142 378,410
216| 3/31 | stcirses: | i (4/1~12/26) 84,438 293,972
217| 3/31 | meswrzes | ik B (4/20~1/23) 128,024 165,948
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LIS

SN

2 An| wH i % AR | e | 201
218| 3/31 | mtswrset | ik & (4/21~2/16) 9,570 156,378
219| 3/31 |szwrsess | ik E (4/1~2/16) 71,920 84,458
220 3/31 |mtsires | k£ (4/21~2/16) 41,390 43,068
221\ 3/31 |matmrges: | ik 2 (4/20~12/26) 58,765 A 15,697

= &t 31,920,000] 31,935,697 A 15,697
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